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(model selection)

76



{B: ()}
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ﬁi (X) = Ui (X;éMLi)
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Leibler information)

KL(pIIP) =],

(Kullback-
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p(x) = p(x)

p(x)
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(distance)

(X,y)=0
(X, y)=d(y,X)
(X,y)=0=x=y

(X,y)+d(y,z)=>d(x,2)

KL(p |l p) = KL(P |l p)

79



80

p(x)

KL(pIIB) =] p(x)log p(x)dx— | p(x)log p(x)dx
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(entropy)




N — oo

_%iygg p(x) —> [ p(x)log p(x)dx
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(Akaike’s information
criterion)

AIC =Y logq(x;; 6y, ) +dime
- 1=1 y y \—y—’

1

= AIC ~—[_p(x)log p(x)dx
N D



AIC ==Y logq(x;; 6, ) +dim@
=l -~ U\ )
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(Occam’s Razor) 14

(principle of parsimony)
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AIC =->"logq(x;;6,, ) +dim @
=l ~ J\ )
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(Takeuchl’s information criterion)
TIC=-> log q(x.;60,, )+ trace(JH )
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E[TIC]=E[-_p(x)log p(x)dx]+0(%)

o f(N)=0(g(n)) n—x
e f(n)=0(g(n)) N
1/n

P(X) = a(X; Oyye )

| (n)<Cg(n)
f(n)/g(n)—>0



